EARAROBEEIERT — 2 N— IBISH —F

201478128 (£) 3E+=R3H

m"fﬁ%Zﬁ KEEF) E#Es ‘ [R&] B ‘ [eEmsml  — |2 (%) 12000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N R EHR : — SHE— (ER)
RREEE EETE S o2 a 1.(1_1).1 6-7 34.8| 81.6 | 1 (4:1) i
R:vagrihe7 BAAHT4—Fa> HE77—»4L
N R . T . - JFtEE (ER)
o 5 ,7_/%—_9—_/\,\,,7& > 2 54.0‘7‘ 1(.11/12.>2 6-5 35.0 | 80.4 6 (f?j) =it
ANRZATNGT B:F—F+ Ty PR R e
—: 4 2 | BAUGAF 1:11.2 3-3 35.2| 80.2 | 5 450 | EEMERE— (ER)
3 N 4 ILT4q—%& 54.0 7€) (-6) BREE LY
RRZy VIl BiHLRTYLY J—HrTr—L
5 s 2 | RERAS 1:11.4 1-1 35.7| 781 | 9 448 | BEFE (RR)
s 8| T 1%— A51.0 (1 1/4) o |1EE—
LixfagR—5— B:AH>/N)yD A+t
4 o | FMIEBZ 1:11.4 3-3 35.4 | 78.1 2 442 | HHEZ (ER)
s 9| X777 54.0 76 (o) |H H o >z17-®nxk
WA R=32FkR—L B:¥3—bN2KR HF—L— -+ TxIN> s T7—LERE
—:\ S # 2 | ERE 1:11.5 5-5 35.4| 771 | 3 428 | ROER (R=R)
65|67 IATNT~ 54.0 (172) o) | B
R8T BiLAH - PR AU 78S
g . i 2 | tBkth 1:11.9 9-8 35.5| 73.1 | 4 454 | RHERET (ER)
]3 1TyIRA > 54.0 (2 1/2) ) | ) *rOyrTr—L
:Medicean #:3—2 ESEEae]
o= B 2 | Eo#HN 1:11.9 9-8 35.5(73.1| 8 412 | BHEE (FR)
8812 INT A 54.0J (INF) (+4) HomER
L:a=/FXLLy b B:AXRIwILT—ILR EB RS
- FEN y _ ] ] ROER (FER)
9l5|7 HINHI=HIL 4 2 &% N 1(122)2 11-11 35.7| 70.1 | 10 ;1_364) e
LA agyLyy B:A/YHFISIN ¥ e ]
o= # o2 | AlRHE 1:12.4 2-2 36.5| 68.5 | 7 410 | KiESH (RR)
1007117 7HxZ A51.0 (1 1/4) (o) |AtEE
R:29x T hF—FG7—K—-—K B:7/70JLX REHE
S . i 2 | BERX 1:12.8 13-13 | 35.5| 64.2 | 13 | 460 |MHBAR (ER)
1118113 Hho/ 2y 54.0 (2 1/2) -2) %
Lv—NFY>F— B:vv/0Ot€v4a milll BERl
=3 ft 2 | BRR 1:13.5 12-12 [ 36.7| 58.0 | 12 | 430 |WAMZ (EX)
12fg{ 10| IV 1F 7> 510 (@) o) | FEE
RRFAT—I K BHATAIUHFARZ =RIERYS
= s oo | ESEMSE 1:13.7 8-8 37.3]56.9 | 11 | 500 |&EXH= (RR)
13 2| ¥ 7 54.0 (1 1/2) o) | ERT
R:T7ITXFTaN B:vI-TI—2 FRBE%S
@ 71 L
) 47.6-35.4
NA 24 L | 12.4-11.1-12.2-11.5-11.8-12.1
@ 1—F—@&BIEf
12—7—
23—7F—
S=57= 8,11(4,9)6(1,5)2(3,12)7-10-13
41—+ — 8,11(4,9) (6,5)1(2,3,12)7-10-13
[ RN
B OB 1 170M 714K 1-5 990M e & 1-4 880M &R 1-4-5 6,850
% B 1 1104 1-4 5400 | | B &= 1-5 3,170 | | 3:EE 1-5-4 25,350M
5 640M 4-5 4,190 B H 1-5 3,640
4 290M

ABICOVWTRDTEEERROODE. TR LIV,




